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9:00 18:00

kw / BL kWh/ BL kWh/ BL
Wh/ / Wh/ [/ Wh/ /
11/1 11/15
175.0 106.6 68.4
A 10 99.9Y% 99.9% 99.4% | 99.4% 100.7% | 100.7%
- 11716 11/30 179.0 0 ; 109.0 ; ; 70.0 0 0
161.2 875 73.7
A B 11 92.0% | 100.9% 81.6% | 98.2% 108.4% | 104.2%
11 10,11,12 12 28 1 4
........................................... T
A A 0.2kWh/
AO1 A 0.1kg/ A
.
B ( 413.8KWh/
A79 A 5.9kg/ B
g HE
- Pl
A B A 14.0kWh/
A 80 A 6.0kg/ P
g

10 Okamur—a



PR

PC

UP

OoOkamur-a

11



At S

Ministry of the Environment

110% =
- - - 8
105%
100%
95Y%
8
—0O
90% R
.
85% —
A- . _
| | , , " "A | 18
80%
11 12 1 |
—o— - A - - |-
+ 1 14.0kWh

12 Okamur—a



kWh

10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0

7 80%

7 70%

7 60%

7 50%

1 40%

=4 30%

20%

4.8kWh

13

OoOkamur-a



kWh

9.0
8.5
8.0
7.5
7.0
6.5
6.0
5.5
5.0

7 60%

7 55%

1 50%

45%

7 40%

7 35%

30%

2 6kWh

14

OoOkamur-a



Okamur—a



--------------------------------------------------------------------------------------

A ( 37kwh/ )
0.7 | 1.6kg/

B [ A21.7kWh/ ]
A4l . A 9.3kg/

A B ( a181kwh/ )
A3A4 A 9.3kg/

.......................................................................................

C A26 kWh
A90 A11.0 -CO2

—

.
----------------------------------------------------------------------------------------------------------------------------------------------
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2009 2007
17
365 kWh .
157 t-C02
CO2
. 3 A B 34 Cco2 4.615t-C02/ *1.2 :
396  kWh ,
CO2 170 t-CO2
2,176 3 4 957 3
CO2
A2 74 CO2 L kA .-
+ 760 kWh
CcO2 327 t-CO2 .
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